HERMBMESARFRBIMER (AR FEER

— REFERTHELARX

RIS =X (HITORRG DT AR DR IG A0 X X LR HE B ) X XU T 38 AR 0 X A% AR B AR 4

=, FEAEFHE
TRES 531 FERETRE (%)
BEATE (FAREIFHO 1.2
FAREIMITR 1.2
\ ST — T AR 2.0
Al o e o e S s A7 R
i SE it i 2 IR S TR 2.0
SE it IR 5 R A 2.0
S E VIR 2.0
= RETRE R
1. BRPiE
% i S5 4% R R
— 4 [0.6, 0.8]
—% (0.8, 1.0]
=% (1.0, 1.3]
2. AL
= A= ) R R
F AR B AR BRI [0.8, 1.0]
EIREIT (1.0, 1.3]
3. BEORES N A0S
BEARBS N A0 R
[30 K, 14 A %) (1.00, 1.30]
(14 %, 55 %] [0.90, 1.00]
>55 i % (1.00, 1.30]
4. A5/ TG Z
LG/ PRI AF 2 TR
(0, 35%) (0. 35, 0.55)
[35%, 40%) [0.55, 0.60)
[40%, 50%) [0.60, 0.75)
[50%, 65%) [0.75, 1.00)
[65%, 80%] [1.00, 1.25]

>80%

(1. 25, 4.00]




U, BefrifsE R E
1, BeRER A B AR

BEARBE N BRI CRRAE AT S 2 45 FH0 W7D kS ¥
FARAT G R4 [0.7, 1.0]
FARBT S — & (1.0, 1.2]
FARH S 2 (1.2, 1.5]

2. PR e AU BT

= e AU B KT R T
eSS, MR, PATHE R [0.6, 1.0]
AR B NS, TR K (1.0, 1.3]
A BRI B . NS, PATIHIRE (1.3, 1.5]

PRRAEH R

1. SRR RBC BERK R

2. H R REOHRAE BAHET A B, R 1. 0.

3. B ARBTCK N AE A LR 2R RVEE AR, MRS EIR 2R AL T
LU E »



